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A m|
O-F # X A T 551 5 = it
01| T & H 495 564 673 1,237
002 | %R N ) 636 743 808 1,551
003| E &FH H M 350 360 344 704
004 | % i HT 980 1,214 1,108 2,322
005 | X Rk H 746 920 931 1,851
006 | & & F H 1,365 1,718 1,616 3,334
007 | # 3 T 172 269 220 489
08| 5 4 H 832 1,003 1,088 2,091
009 | KX f&8 H 524 7134 714 1,448
010 | & H i) 980 1,301 1,400 2,701
011 | £ & F 664 825 872 1,697
012 | & &  H 863 1,125 1,281 2,406
013| 8\ H i) 548 746 845 1,591
14| & & H 885 1,128 1,161 2,289
015| M B H 124 152 177 329
061 | XFEHET—TH 36 37 25 62
062 | XFEHET_TH 187 163 176 339
063 | XFEHET=TH 11 34 59 93
064 | XREHETMTH 103 109 135 244
071 | &HAB—TH 34 27 44 71
072 | £HFABI_TH 274 277 244 521

A

O-F # X & | HEHR 5 = B
081 | M BT — T H 0 0 0 0
082 | AT — T H 32 674 47 721
083| FA BT = T H 169 172 210 382
091 | Mi¥%Br—TH 86 86 108 194
092 | MBI _—TH 98 258 416 674
101 | FME—TH 110 104 113 217
111 | FHHEET—TH 118 130 133 263
112 | FSHEZTH 88 73 74 147
113 | FHFHE=TH 125 122 133 255
114 | FHHETETH 104 118 121 239
115 | FEFHETATH 154 110 166 276
116 | FHHEETATH 149 139 149 288
117 | tEFHETETH 127 148 162 310
118 | FHHEET/NTH 137 144 155 299
121 | EZBFH—TH 78 73 76 149
122 | ERFHIZTH 91 63 63 126
123 | EBFHI=TH 81 80 95 175
124 | ERFHTETH 74 70 55 125
126 | EZRFHETATH 107 115 121 236
126 | EBSFHIATH 153 124 133 257
127 | EBFHETH 143 94 159 253

a it 12,993 16,346 16,610 32,956




